=

O6paborka P.AxmeTmmaa

30.09.2012

1/

il il ol

p poco cresc.

Tennaduro u Jllamvsne 6 Oenb bpakocouemanus

8

HeOo >xeAaeT cHaCThsd BaAM

Teneramente

D

hdl CET)J

"l}!
1 7

ra
— e | D
raY
ol O

14
23
32

Trombone II

\/

rr

oo

epe

——

id

1\

[ 7]

< mf-

.
——

-

Tempo I

o
~

Meno mosso

PPPPOS PPOOPS SPOPPOP PPOPES

[6] Risoluto

.
—

D

a?.

,

LL
1

mp

._

==

o
=4

1
)
)
v _[J

rax
— e | D
X
hdl )
raY
hdl D
raY
ol D
rAax
— e 1| D
hdl I
raY
hdl D
X
hdl I

47
61
74
81
88
96
103



